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QUESTION 1
What value will be assigned to the x variable?
T
¥ &
y=—zandy >»zorz>»>yand z I=y

A. False
B.0
C.1
D. True

Correct Answer: A

QUESTION 2

Take a look at the snippet and choose one of the following statements which is true:

nums

[]

vals = nums

vals.append(1)

A. vals is longer than nums
B. nums and vals are of the same length
C. nums is longer than vals

Correct Answer: B

QUESTION 3

What is the expected output of the following code?
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tion |
Ll1an. - {1
collection. (0, 2}
iuplica -~ gollection
mmlicarte. anc (3)
print (len(collection) len({duplicate))
A.5
B.4
C.6

D. The code raises an exception and outputs nothing.

Correct Answer: D

Explanation: The code snippet that you have sent is trying to print the combined length of two lists, "collection" and
"duplicate”. The code is as follows: collection = [] collection.append(1) collection.insert(0, 2) duplicate = collection
duplicate.append(3) print(len(collection) + len(duplicate)) The code starts with creating an empty list called "collection”
and appending the number 1 to it. The list now contains [1]. Then, the code inserts the number 2 at the beginning of the
list. The list now contains [2, 1]. Then, the code creates a new list called "duplicate” and assigns it the value of
"collection". However, this does not create a copy of the list, but rather a reference to the same list object. Therefore,
any changes made to "duplicate" will also affect "collection”, and vice versa. Then, the code appends the number 3 to
"duplicate”. The list now contains [2, 1, 3], and so does "collection”. Finally, the code tries to print the sum of the lengths
of "collection" and "duplicate". However, this causes an exception, because the len function expects a single argument,
not two. The code does not handle the exception, and therefore outputs nothing. The expected output of the code is

nothing, because the code raises an exception and terminates. Therefore, the correct answer is D. The code raises an
exception and outputs nothing. Reference: [Python Institute - Entry-Level Python Programmer Certification]

QUESTION 4

Which of the following statements is false?

A. The None value can be compared with variables.

B. The None value can not be used as an argument of arithmetic operators.
C. The None value may not be used outside functions.

D. The None value can be assigned to variables.

Correct Answer: C

QUESTION 5

What is the expected output of the following code? print(\\'Peter\\' \\'Wellert\\")
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A. Wellert

B. PeterWellert
C. Peter
D. The code is erroneous.

Correct Answer: B
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